FrLUOL— @ #XK FEH F A &
B JT =3 8 &
K4
FIFE EAE] D
12 /8
DD IR 2 KD 7 S0,
(1) 81 (2) 6 (3) 2
36
(1) (2) (3)
+9 +V6 45
— 6
KO HE, N EEbRNTRELAE I,
(1) 25 (2) —/0.49 (3) /%
(1) (2) (3)
5 —0. 7 2
9
KOO D K/NE, RESEME>TERLRIV,
(1) v3, V10 (2) 3, 7 (3) =5, =3
2T AHE, 9L T LY V5 >3 LY
(1) (2) (3)
V3 | < |V10 3| >|v7 —/5 —/3

KOBEEFLT, v OFETEAEIFHEALEIC LRI N,

(1) 50 (2) V500 (3) 1_56
(1) (2) (3)
5v2 105 V5




FrLuSL—bQ EA FER i
=1 It S #H &
Y ‘EEZ]
% 3FEE R @
12 [t
WDOED 2 FHEAL LS,
1 5
(1)@ (2)@ (S)m
V3 53
(1) By (2) 5 (3>T
WOFREZ L7,
(1) V5x+3 (2) V2x(=7) (3) V6++2
(1) W15 (2) —/14 (3) 3
WORAZBEIZ L7 S0,
(1) V3+2V3 (2) 3/54++3-+5 (3) V50-+32
5v2 — 42
(1) 33 (2) 25+43 (3) 2
WO Z R LRI W,
(1) V32 ++3) (2) (V6+3)(V6-2) (3) (V5-1)°
(1) (2) (3)
243+ 3 NG 6 — 2v/5




, FrLoOO—+Q v T | T ¥ A :
B oo & il &
. 2
55 3 AR TR
12 4
I ROFHEZ LRSSV,
(1) V32x+2 (2) 6vV2++6 (3) (—V14) =21 xV75
&VZ _ 6 _ 63 V14 x 75
e G @
(1) 8 (2) 2v3 (3) -5V2
(4) V75-2V27 -3 (5) 5vV8—3V18-2vV12 (6)\/§_ %
5V3—6V3 -3 10vV2 — 9V2 — 443 V6 V6
3 2
6
(4) -2V3 (5) VZ-4V3 (6) =

(7) (5vZ-1)° (8) (4+V2)(4+3v2)  (9) (3+2V3)(3-2v3)

50 —10vV2 + 1

(7) 51—10V2

(8) 22+16V2 (9) -3
2 x=vV5-43, y=V5+V3D L &, ROKXDEERD RS,
(1) (x+y)? (2) xy (3) x2—y?
x+y=2V5 (V5 -v3)(¥5++3) (x+y)(x—v)
=5-3 =2\/§X(—2\/§)
x+y)? = (2\/§)2
(1) 20 (2) 2 (3) —4V15




